Chapter 1. Compound Interest

Ex 1.1

Answer 1.
1. Calculate the amount and the compound interest for each of the following:

a) Rs, 7,500 at 12% p.a. in 3 yvears,
Here, P = Rs./,500 ;, r = 12% p.a. ; t =3 years

For the first yvear: t = 1 year

21 - Fwr=t
100
Sl o RS?’ EOD=x12=x1
100
I =Rs300
L2=F+=.1.

=Rs (7,500 + 200) = Rs 8,400 = new principal

For the second year: t = 1 year; P=Rs 2,400

B Frr=t

100

8,400x 12x 1
100

Slo=Rsl, 002
A=F+5.1.

=

sL=R

A=Rs (8,400 + 1,002) = Rs 9,408 = new principal
For the third vear: £t = 1 year; P=Rs 9,402

Fxr=xt
sl =
100
Sl - F?LSQ’ 402x 12= 1
100

Sl =PRsl, 128.96
A=P+S.1.
A=Rs (9,408 + 1,128.96) = Rs 10,536.96

C.1. = Interest in first yvear + interest in second yvear + interest in third yvear

C.1.=Rs (900 + 1,008+1,128.96) = Rs 3,036.96



bl Rs 13,500 at 10% p.a. in 2 vears
Here, P = Rs. 13,500 ; r = 10% p.a. ; L =2 vears

For the first yvear: t = 1 year

Fxr=t
Slo=
100

513,5[]!:!::: 10x1

100
Sl =Rsl, 350

SLh=R

A=P+5 1.

=Rs {13,500 + 1,350) = Rs 14,850 = new principal
For the second year: t = 1 year; P=Rs 14,850

Fxr=t
sl=
100

514,850}; 10=1

100
SI = Rsl, 485

A=P+5.1.

Sh=R

A=Rs (14,850 + 1,485) = Rs 16,335
.1, = Interest in first yvear + interest in second vear
C.I. =Rs (1,350 + 1,485) = Rs 2,835
c) Rs, 17,500 at 12% p.a. in 3 vears
Here, F =Rz, 17,500, r = 12% p.a. ; £t =3 years
For the first year: t = 1 vear

B P=zrxt
IETss
5115oox12x1

100
=L =Rs2, 100

=

SL=R

A=P+51.
=Rs (17,500 + 2,100} = Rs 19,600 = new principal
For the second vear: t = 1 year; P=Rs 19,600

B Fxrxt
IETss

=




519, GO00x 12=x1
100
Sl =Rs2, 352

sLh=R

A=P+5.1.

A=Rs (19,600 + 2,352) = Rs 21,952 = new principal

For the third vear: £t = 1 year; P=Rs 21,3952

Ferxt
Sl=
100
Sl - RSEL Q52w 12x1

100
=l =Rsd, 634 24

A=P+S.1.
A=Rs (21,952 + 2,634.24) = Rs 24,586.24

.1, = Interest in first year + interest in second vear + interest in third yvear

C.1.=Rs (2,100 + 2,352+42,634.24) = Rs 7,086.24

d) Rs.23,750 at 12% p.a. in 2% years
Here, P = Rs 23,750 ; r = 12% p.a. ; t =2% Vears

For the first yvear: t = 1 year

Frxr=t
s1o=
100
Sl - Re 23, 750x12x1
100
=zl = Rs2, 850
A=FP+Z.1.

=Rs (23,750 + 2,850) = Rs 26,600 = new principal

For the second vear: t = 1 year; P=Rs 26,600

Fxrxt
s1o=
100
Sl - Re 26,600x 12 =1
100
Sl =Rs3 192

A=P+5.1.



A=Rs (26,600 4+ 3,192) = Rs 29,792 = new principal

For the third vear: £t = 1/2 vear; P=Rs 29,792

Frxr=zt
slo=
100
Sl - Rs 29,792x12x 1
100x 2

sl =Rsl, 787 52

A=P+5.1.
A=Rs (20,792 + 1,787 .52) = Rs 31,579.52

C.I. = Interest in first vear + interest in second year + interest in third vear
C.l.=Rs (2,850 + 3,192 +1,787.52) = Rs 7,829.52

&) Rz, 30,000 at 2% p.a. in 2% WVEErs

Here, P = Rz, 30,000, r=8% p.a. ; t =2% Years

For the first yvear: t = 1 year

Frxr=t
s1o=
100
Sl - Re 30,000x Bx1
100
21 = Rs2, 400
A=F+5=.1.

=Rz (30,000 + 2,400) = Rs 32,400 = new principal

For the second vear: t = 1 year; P=Rs 32,400

Frxr=t
=1 =
100
Sl - Rs 32,400 x8x 1
100
51 = Rs2, 592
A=FP+Z.1.

A=Rs (32,400 + 2,592 = Rs 34,992 = new principal

Frr the third vvears + = 12 simar - BP=0e =4 Q072



L e LI Il L Afe— Yol g R A I

Pxrxt
L= 100
3,992 x8x1
>l =R =555
SI =Rsl,399.68

A=P+5.1.

A=Rs (34,992 + 1,399.68) = Rs 36,391.68

C.I. = Interest in first year + interest in second year + interest in third vear

C.1.=Rs (2,400 + 2,592 +1,399.68) = Rs 6,391.68

f1 Rs, 10,000 at 8% p.a. in 2% years
Here, P = Rs.10,000 ; r=8% p.a. ; t =2z1L WEars

For the first yvear: £t = 1 year

ol Fur=t
100
ol - RSID,DDO:{B =1
100
=1 = RsB00
A=P+5.1.

=Rs {10,000 + 200) = Rs 10,800 = new principal

For the second year: t = 1 year; P=Rs 10,800

ol Fxr=t
100
ol - RSID,BDO}:B =1
100
=1 = RsBe4d
A=P+=T.

A=Rs (10,800 + 864) = Rs 11,664 = new principal

For the third vear: £t = 1/4 vear ; P=Rs 11,664

SL=PKrXt
100

11 £ A48 o1




4oL, AT A S L

100 = 4
Sl =Rs233.28

sl =Rs

A=P+51.
A=Rs (11,664 + 233.28) = Rs 11,897.28
C.I. = Interest in first vear + interest in second vear + interest in third vear

C.I.=Rs (800 + 864 +233.28) = Rs 1,897 .28
(g) Rs.20, 000 at 9% p.a. in 2% Vears

Here, P = Rs.20, 000 ; r =9% p.a.; t= 2% Years

For the first vear: £t = 1 vear

Frxr=t
slo=
100
S] - Rs 20,000% 9= 1
100
S1 =Rsl, 800
A=P+=.1.

=Rz (20,000 + 1,200) = Rs 21,800 = new principal
For the second year: t = 1 year; P=Rs 21,800

B Per=t
C 100
.21,800x 9x 1

100
Slo=Rsl, 962

A=P+5.1.

S

SL=R

A=Rs (21,800 + 1,962 = Rs 23,762 = new principal
For the third vear: £t = 1/3 vear; P=Rs 23,762

Sl - Fwxr=t
100
SIII=R523J?62>{9X1
100w 2

=l =Rs712.86
A=F+5.1

A=Rs (23,762 + 712.86) = Rs 24,474.86



C.I. = Interest in first vear + interest in second yvear + interest in third vear
C.l.=Rs (1,800 + 1,962 +712.86) = Rs 4,474.86
(h} Rs.25, 000 at Bé% b.a. in 1% years

Here, P = Rs.25, 000, r = Elé% p.a. = %%; L= 1% Years

For the first yvear: t = 1 year

Fer=t
SLo=
100
Sl - Re 25 000x% 421
100 x5
= =Rsz2 100
A=P+3.1.

=Rs (25,000 + 2,100) = Rs 27,100 = new principal

For the second vear: t = 1/3 vear; P=Rs 27,100

S - Fur=t
100
ol =RSE?,100>¢42>¢1
100 =5 =2
=1 =Rs758.80
A=P+=1.

A=Rs (27,100 + 758.80) = Rs 27,858.80
2.1, = Interest in first yvear + interest in second vear

C.l=Rs (2,100 +758.80) = Rs 2,858.80
. 1 : 1
(i) Rs.40, 000 at 5:L % p.a. in 1§ years

Here, P = Rs. 40, 000, r =5% Yo p.a. = % o, L =1% Years

For the first wvear: t = 1 vear

Frr=t
Slo=
100
Sl - Re 40,000x 21 =1
100 % 4

=l =Rs2, 100



A=P+5.1.

=Rz (40,000 + 2,100) = Rs 42,100 = new principal

For the second year: t = 1/3 year; P=Rs 42,100

SL=erxt
100
Sl - RS42,1EJCI =21=1
100 =x4=3

51 =Rs736.75
A=P+5.1.
A=Rs (42,100 + 736.75) = Rs 42,336.75

C.I. = Interest in first yvear + interest in second vear
Cl=Rs(2,100 +736.75) =Rz 2,836.75

(i) Rs.76, 000 at 10 % p.a. in 2% years
Here, P = Rs.76, 000, r = 10 % p.a.,;, t= E%years

For the first yvear: t = 1 vear

Fxrxt
=l = 100
S - Rs 76,000 % 10x 1
100
Sl = Rs7,600
A=P+S.1.

=Rz (76,000 + 7,600) = Rs 83,600 = new principal

For the second vear: t = 1 year; P=Rs 83,600

_erxt
IETss
SSE,EDDxlel

100
5L =Rs8 360

=L

2L =R

A=P+51.
A=Rs (83,600 + 2,360) = Rs 91950= new principal
For the third vear: £ = 1/2 vear; P=Rs 91,960

_erxt

E Tt

=L



Ly
Sl RSQL S50 x 10x1

100 2
=l = Rsd 5598

A=P+S.1.
A=Rs (91,960 + 4,598) = Rs 96,558

C.1. = Interest in first yvear + interest in second yvear + interest in third yvear

C.1.=Rs (7,600 + 8,360 +4,598) = Rs 20,558

(k) Rs.22, 500 at 12 % p.a. in 1% Vears
Here, P = Rs.22, 500, r = 12 % p.a.; t= igyears

For the first yvear: t = 1 year

Fer=t
Slo=
100
Sl - Re 22, 500x12% 1
100
Sl =Rs2, 700
LA=P+5.1.

=Rs (22,500 + 2,700) = Rs 25,200 = new principal

For the second vear: t = 3/4 year; P=Rs 25,200

Fxr=t
=l=
100
Sl - Re 25 200x 123
100« 4
51 = Re2, 268
A=FP+5.1.

A=Rs (25,200 + 2,268) = Rs 27,468

C.I. = Interest in first vear + interest in second vear

C.lL=Rsi(2,700 + 2,268) = Rs 4,968
(1Y Rs.16, 000 at 15 % p.a. in E% VEars
Here, P = Rs. 16, 000 ; r =15 % pa. ; t= E%years

Frr the firet vear + = 1 wear



L L A P -y =

S Pxrxt

100

o] _ngl6000x15x1
100

SI = Rs2, 400

A=P+51.

=Rs (16,000 + 2,400) = Rs 12,400 = new principal

For the second year: t = 1 year; P=Rs 18,400

Frxrxt
sl =
100
Sl - Rs 12,400« 15x 1
100
=1 =Rs2, 760
A=P+5.1.

A=Rs (18,400 + 2,760) = Rs 21,160 = new principal

For the third vear: t = 2/3 year; P=Rs 21,160

5I1.=P:-¢r:-ct
100
5L=RSEL160K15K2
100 %3
=l =RsZ2l1e
LA=FP+5.1

A=Rs (21,160 + 2116) = Rs 23,276

Z.1. = Interest in first year + interest in second yvear + interest in third vear

C.1.=Rs (2,400 + 2,760 +2116) = Rs 7,276



Answer 2.

i PxR=xT 63,000x8x1
Soln: (i) C1= =
100 100

P;1=5200+65000
= Rs.70200
i) C2=—L— Rs. 5616
100
P.=Rs.75,816
iii) C1+C2= 5200+5616=10,816

iv)Co=o 28 _6065.28

= Rs.5200

Answer 3.

PxR®T _ 75000x1x3
100 100

Soln:1) C1=
P;=81000

=6000

_P><:R><T_Bll]l]l]><3><1
= 400 ~— 100
P>-=87480

87480x1x8

i) CEZT: 6998.4
P3=94478.4
ii1) Cs=6998.4

94473.4x1x8

iv) Co= =2 72=7558.272

=6480

Answer 4.

36000x1x10

Soln: i) Ci=
P1=39600

fis 39600x1x10
ii) Ca=———

P:=41580

=3600

=1980



Answer 5.

Soln:i)¢ =

PxR=T B 24000 :=1=10

100
P =26400
- 26400 x1=10 2640
. 100 B
F, =29040
] /
C. = 20040 1=10 — 2904
Bl 200
P =31944
i)

100

= 2400

Total Interest= 2400+2640+2904=7944

Answer 6.

Soln:

HC, = 27500x<12x1

P =30800
30800x12x1

T 100

P, = 34496

C. = 3449612 x1 N

100

P, = 38636

G, = 11136

i) B, =34496

C;

=3300

=3696

413952



Answer 7.

5
E_}q:ESDDDDKLxl:gDm
100
£ =659000
.q
:690[][]><1,><1 10350
100
B =79350
g g
G:TQB‘DKML:HQD_ZE
100
E =082525
i)C,, =20541
Answer 8.
C1=25EJDDK1KID=HDD
100
R =27500
c =2?EDDK><ID=2?ED
100
P =30250
c. :3025[]::«:1:410:3025
- 100
B, =33275
g
(_‘,‘4:M:1553_?5
100

P, =34940



Answer 9.

Soln:

I
CIZIEDDDXLXI 2400
100

B =18400
18400:=15=1
i M )
- 100
P, =21160
g
C3=2”60KLK1=?935
400
P, =29095
Answer 10.
Soln:
|'-' ¥ “'II
Amazmr=P; 1+— |
. 100)
P

Amount =24000! 1+— | =31944
" 100)

Therefore, Shekhar received Rs.31944 at the time of maturity.

Answer 11.

N
Amount = P'I 1+—
" 100)
Il.-' 8 1-.'Il?i
Amownt=2750011+—| =Rs3,982
" "100)



Answer 12.
Soln:

- iy
Awmount=P| 1+LJ
200

(i, 12 V?
Amount =35000 1+_J = Rs.41685.56
L 200

Answer 13.
Soln:

I,.r' # H
Amount =P 1+—
" 200
10

Amount = —1DDDDL1+—J = Rs.48620.25

Answer 14.

Soln:
*-.Ilr

( r
Amount = P| 1+—J
20

\
i 15 &
Amount =16000/ 1+—J =Rs 19876.75

C=19876.75-16000=3876.75

Answer 15.

Soln:

i
Amoumt = P(l + L}
1\ 100

Amount = 12‘DDJI+£J = Rs. 15660



Ex 1.2

Answer 1.
(a) Rs 12,500 for 2 yvears at 8% for the first yvear and 10% for the second year,

Sol: P =Rs. 12, 500,
(i) Interest for the first year
T =1 year, R = & % for first vear

12, 500% 8 x 1
100
~ Rs.1,000

= Hs

(i) Principal for the second vear
= Amount after one year

=FR512500+Rs1,000
=Rz 132,500

(iii) Interest for the second year

T =1 vyear, B = 10 % for second year

13,500% 10% 1
100
- Rs.1,350

= FHs

Therefore, Amount at the end of 2m year
= Rs5.1,3500+ Rs. 1,350

Amount = Rs 14,250

C.l. = A-P

=Rs. (14,850 - 12,500)

C.l. = Rs, 2,350

(b Rs 15,000 for 2 yvears at 6% for the first vear and 7% for the second vear,

ol P =Rs 15, 000,



(i) Interest for the first year

T =1 vear, R =6 % for first year

15,000« & =1
s
100
= F5900

(i) Principal for the second vear
= Amount after one year

= R5, 15,000+ &g, 200
= R5, 15,900

(iii) Interest for the second vear

T =1 vyear, R =7 % for second vear

15,900 %7 x 1
100
- Rs1,113

=Hs

Therefore Amount at the end of 2M year

= R5.15,900+ Rs. 1,113
= Fz.17,013

Amount = Rs 17,013
ClL =A-P
=Rs, (17,013 - 15,000

C.l =Rs. 2,013

(c) Rs 12,500 for 3 vears at 12% for the first yvear, 15% for the second year and
17% for the third vear,

sol P =Rs.12, 500,
(i) Interest for the first vear
T =1 vear, R = 12 % for first year

12 500x% 12x 1
100
- Rs.1,500

= FHz

(i) Principal for the second vear
= Amount after one year



= HE LU+ RS L, sul
= R5.14,000

(iii) Interest for the second year
T =1 vear, R = 15 % for second vear

14 000 % 15% 1
100
- Rs.2,100

= FHs

(iv) Principal for the third year
= Amount after second vear

=514, 000 + Hs.2,100
=R5 16,100

(w) Interest for the third year

T=1vyear, R = 17 % for second vear
16,100x 17 =1

100
- Rs.2,737

=Rz

Therefore Amount at the end of 3rd vear

=R516,100+ Hs 2,737
= R5183,837

Amount = Rs 182,837
C.l. =A-F

—Rs. (18,837 — 12,500)

C.I.=Rs. 6,357
(d) Rs 20,000 for 3 years at ?%% for the first yvear, 8% for the second year and

10% for the third vear.
Sol P =Rs.20, 000;

(i) Interest for the first year
1 15
T =1vyear, R = ?E % for first year = = %

ED,DDD}:%HI

=R

ER



1y
20,000 =15=1

2x100
=H5.1,500

= Hs

(i) Principal for the second vear
= Amount after one year

= Hs5.20,000 + Hs.1,500
= R35.21,500

(i) Interest for the second vear
T =1 vyear, R = 18 % for second year

21,500%8x% 1
100
- Rs.1,720

=Kz

(iv) Principal for the third vear
= Amount after second vear

= RK5.21,500+ Rs.1,720
= R5, 23,220

(v) Interest for the third yvear
T =1 vyear, R = 10 % for second year

23,220% 10% 1
100
- Rs.2,322

= Hs

Therefore Amount at the end of 3rd yvear

=R823,220+ Hs. 2,522
= 525542

Amount = Rs 25,542
C.I =AP
=Rs, (25,542 — 20,000

C.l.=Rs 5542



Answer 2.
P =Rs 25,000 R =10% p.a.

Interest for first yvear

_ Fs25000x 10x 1
- 100
= Rs2,500

Amount due after 1st yvear
= Rs. 25,000 + Rs. 2,500
= Rs 27,500

Amount paid after 1st yvear = Rs, 7,500

Balance amount = Rs, 27,500 - Rs, 7,500
= Rs, 20,000

Interest for second year

_ Rs20,000x 10x 1
- 100
= Rs2, 000

Amount due after 2nd vear
= Rs. 20,000 + Rs. 2,000
= Rz 22,000

Amount paid after 2nd vear = Rs, 7,500

Balance amount = Rs, 22,000 - Rs, 7,500
= Rs. 14,500

Interest for third year

_ Rs14,500x10x1
- 100
= Rs1, 450

Amount due after 3rd vear
= Rs, 14,500 + Rs, 1,450
= Rs 15,950
Amount paid after Zrd vear = Rs, 7,500

Balance amount = Rs, 15,950 — Rs, 7,500
= Rs. 8,450

Loan outstanding at the beginning of the fourth vear = Rs 8,450,






Answer 3.
P=Rs. 90,000 R =15 % p.a.

Interest for first yvear

_ Rs90,000x 15x 1
B 100
= Rs13,500

Armount dus after 1st year
= Rs, 90,000 + Rs, 13,500
= Rs 103,500

Armount paid after 1st year = Rs, 35,000

Balance amount = Rs, 103,500 — Rs, 35,000
= Rs. 68,500

Interest for second vear

_ Rs68,500% 15x 1
- 100
= Rs10,275

Amount due after 2nd vear
= Rs. 62,500 + Rs, 10,275
=PRs 78,775

Amount paid after 2nd vear = Rs, 35,000

Balance amount = Rs, 78,775 — Rs, 35,000
= Rs, 43,775

Interest for third vear

_Rs45775x15x1
100
= K56, 266, 25

Amount due after 3rd vear
=Rz 43,775 + Rs. 6,566.25
= Rs 50,341.25

Amount paid after 3rd vear = Rs, 35, 000

Balance amount = Rs, 50,341.25 - Rs, 35, 000
= Rs, 15,341.25

Loan outstanding at the beginning of the fourth vear = Rs 15,341.25



Answer 4.
P=Rs. 15000, R = 11 % p.a.
Interest for first yvear

_ Rs15000x% 11x1
- 100
= Rs1, 650

Amount due after 1st vear
= Rs. 15,000 + Rs. 1,650
= Rs 16,650

Amount paid after 1st year = Rs, 7,550

Balance amount = Rs, 16,650 - Rs, 7,550
= Rs. 9,100

Interest for second year

_ Rs9,100x11x1
B 100
= Rs1, 001

Amount paid after 2nd vear = Rs, 6,101

Balance amount = Rs, 10,101 — Rs, 6,101
= Rs. 4,000

Interest for third vear

_ Rs4000x11x1

100
= K5 440

Amount dus after 3rd vear
= Rs. 4,000 + Rs. 440
= Rz 4,440

Pooja needs to pay Rs 4,440 to Sonali at the end of third yvear to clear her debt,

Answer 5.
P=~Rs 18,000, R = 12 % p.a.
Interest for first vear

_Rslg 000x12x 1




100
- Rs2,160

Amount due after 1% vear
= Rs, 18,000 + Rs, 2,160
= Rs 20,160

Amount paid after 15* year = Rz, 5,250

Balance amount = Rs, 20,160 - Rs, 5,250
= Rs. 14,910

Interest for second year

_ Rs14,910x 12x 1
- 100
= Rs1, 789,20

Amount due after 2n yegr
= Rs. 14,910 + Rs. 1,789.20
=Rz 16,699.20

Amount paid after 27 vear = Rz, 5,875

Balance amount = Rs, 16,699 .20- Rs, 5,875
= Rz, 10,824.20

Interest for third year

_ Rs10,824.20x12x 1
- 100
= Rs1,298.904

Amount due after 31 vear
= Rs, 10,824.20 + Rs, 1,292,904
=Rs 12,123.10

Amount paid after 31 vear = Rz, 6,875

Balance amount = Rs, 12,123.10- Rs, 6,875
= Rs. 5,248,104

Interest for fourth year

_HSE, 248,104 x 1% 1

- 100

= Rt 29,7725

Amount due after 4th vear

= ks 5,242,104 + Rs, 6297725
= Rs 5877 876




=Rz 5877 .87

Archana needs to pay Rs 5877.87 to Ritu at the end of 4% vear to clear

Answer 6.

Here, P = Rs 15,000; r = 12% p.a.; t=2 years

LA = P[1+ LJ
100

12y

- Rs15000(1+ —=

R [ +100J

2
- Rs.15,000( 12

100

o8y
_ Rs.15,000] =2
SIS [25]
28 28
- Rs.15,000x 22 22
S o LT

L A=FHs 18816
Hence, amount due after 2 vears = Rz 18,816

Amount paid after 2 vears = Rs 7,500

Balance amount = Amount due after 2 years — amount paid after 2 yvears = cost
of the scooter = Rs (18,8216 — 7,500)

Cost of the scooter=Rs 11,316



Answer 7.

Here, P = Rs 25,000, r = 8.4 % p.a.;, t=2vyears

cA=pl1+
100

2

2.4
- Rs.25,000( 1+ 22
e [ * 100]

84 ]2
100% 10

271

- Rs.25 000 222

S [250}

= R5.25 DDD[l +

2751 271
= RS.ESJODDKE :‘Cﬁ

w A= Rs29,376.40
Hence, amount due after 2 yvears = Rs 29,376.40
Amount paid after 2 years = Rs 17,500

Balance amount = Amount due after 2 yvears — amount paid after 2 vears = cost
of the motorcycle = Rs (29,376.40 — 17,500

Cost of the motoroycle= Rs 11,876.40



Answer 8.

P=PRs 10,000, R =& % p.a.
Interest for first vear
_ 10,000 x5 x 1

100
= REE00

Amount due after 15 year
= Rs. 10,000 + Rs, 600
= Rs 10,600

Amount paid after 15* year = Rs, 5,600
Balance amount = Rs, 10,600 - Rs, 5,600
= Rs. 5,000

Interest for second vear when r = 8% p.a.

_Hs5,000xEx=1]
100
= Rs400

Amount due after 2 year
= Rs, 5,000 + Rs, 400
= Rs 5,400
Prakash has to return Rs 5,400 o Rajesh at the end of second year,



Answer 9.
FP=Rs 12,500, R = &8 % p.a.

Interest for first yvear

_ Rs12,500x8x 1
- 100
= Rs1,000

Amount due after 15% vear
=FRs, 12,500 + Rs, 1,000
= Rs 13,500

Armount paid after 15% year = Rz, 7,500

Balance amount = Rs, 13,500 - Rs, 7,500
= Rz, 5,000

Interest for second vear when r = 10% p.a.

_ Rs6,000x10x1
100
= Rs600

Amount due after 2mM year
= Rs, 6,000 + Rs, 600
= Rs 6,600

Meera has to return Rs 6,600 to Rajeev at the end of second year



Answer 10.
F=FRs 0,000, R = ?%% p.a. = g% p.a.

Interest for first year

FEo0, 000 = 12—5 x1

100
_ Rs50,000x%15x 1
- 2% 100

- Rs3,750

Armount due after 15% vear
= Rs, 50,000 + Rs, 3,750
= Rs 53,750

Armount paid after 15 yvear = Rz, 27,750

Balance amount = Rs, 53,750 - Rs, 27,750
= Rz, 26,000

Interest for second year when r = 9% % pa. = % % pa.

RS 26, 000 x 3?’_" x1

100
_ RS526,000 %37 x 1
B 4 %100

- RsZ, 405

Amount due after 2rd year
= Rs, 26,000 + Rs, 2,405
= Rs 28,405

Mr, Chatterjee has to return Rs 28,405 o Mr, Patel at the end of second vear to
clear his loan.



Ex 1.3

Answer 1.

Here P =x; A =FRs 9, 44784 t = 3 vears; r =2 % p.a.

Ir_ T
Sa-pl1e
[+1EIDJ

8 ]
= P50, 447,84 = x |1+ =
55, X[ : m}

108y
100
27 27 27

= Hs9, 447 8=y x —x T w_——
25 25 25

= Fs9, 447,84 = x[

s RET) AT Btk sl o SRS
15,625
9, 447 B4x15, 625
= ¥ = K5
15,683

= X = FRs7, 500
The sum of money will be Rs 7,500,

Answer 2.

Here P =x; A =Rs 16, 627.50, t =3 vears; r = 10 % p.a.

||" i

3
— R316,637.50 = x [1 ; 11_'3}

1%
= Rs16,637.50 = x| 15

11 11 11

= Rsl6,637.50 = Xxﬁxﬁxﬁ

1,331

1,000

16,637.50% 1,000
1331

= ¥ = R512 500

The sum of money will be Rs 12,500,

= Rsl6, 637 .50 = x x

= x = FHs




Answer 3.
For the second vear

Here P =x;, A=Rs 7,128, t = 1 year; r = 10 % p.a.

||‘_ T
CA=pl1e L
[+1EID]

10y
= Rs7,128 = x| 1+ —=
57, [ +m]

11

= Rs57,128 = x| 2=
57, X[m]
7,128 % 10

11
= x = Rz, 420

= x =Hs

The sum of money will be Rs 6,420 at the end of the first vear or beginning of
the second vear,

For the first vear
Here P =x;, A=Rs 6,480, t = 1 year; r = 8 % p.a.

|r_ T
SA=P|1s T
[+10DJ

g
=R 480 =x |1+ —
56,4801+ 2]

108
100
6,480 % 100

102
= x = s, 000

= Hs6, 480 = x [

=X =FHs
The sum of money will be Rs 6,000 at the beginning of the first vear,

Answer 4.
For the third vear

Here P = x; & =Rs 3,320.40; £t = 1 year; r = 12 % p.a.

A T
N A-P[1+ lDDJ

= Rs3 326,40 = x 1+£1
! T 100

112}
= Rs3,326.40 = x (ﬁ



hTT TS

3, 326.40x 100
112
= x = HzZ, 970

= x = Fs

The sum of money will be Rs 2,970 at the end of the second vear or beginning of
the third vear.

For the second vear

Here P =x; A =Rs 2,970, t = 1 year; r = 10 % p.a.

|r_ T
ca-pl1s
[+1EIEJ

10
= Rs2 970 = x| 1+ —
2 x[ +10@]

11
= RS2 970 = x| —
52,970 x( 3]

2 970% 10

11
=5 = Hs2700

= x5 =FH=

The surm of money will be Rs 2,700 at the end of the first vear or beginning of
the second vear,

For the first yvear

Here P = x, A =Rs 2,700, t = 1 year; r =8 % p.a.

||" T
| E
[+1DDJ

o 1
= RsZ700=x|1+—
52,700= x{1+ 1}

108
= Rs2,700= x| oo
- X[mm]

2, 700x% 100
10=
= x = Rs2500
The sum of money will be Rs 2,500 at the beginning of the first vear,

=x =M=

Answer 5.
For the third vear

Here P =x, A=Rs 13,675.20;, t =1 year; r = 12 % p.a.

Ir_ T
CA=P|1e L
{HDD]



= Rs13,675.20= ¥ 1+£1
! T 100

= Rs15,67/520=x [EJ

100

13, 675,20 100

112
= x = Rs12, 210

= 5 = H5

The sum of money will be Rs 12,210 at the end of the second year or beginning
of the third vear.

For the second year

Here P =x; A=PRs 12,210; t =1 vear; r = 11 % p.a.
oy T

r

CA=Plly —
[ * 100,

11y
= Rs12210= x| 1+ —
12, xk +1DD]

“111}
= Rs12,210 = x| ===
S " 100
12 210% 100

111
= x = Rs 11,000

= x = Fs

The sum of money will be Rs 11,000 at the end of the first year or beginning of
the second vear.

For the first yvear

Here P = x;, A =FRs 11,000; t =1 vear; r = 10 % p.a.

ry
CA=P[1s Lo
[+1EJD,

(1o
= Rs11,000=x|1+——
511, )«'k +1I:ID]

— Rs11000= x fﬂ]
* 10
11,000% 10

11
= ¥ = Rs10, 000

= x = =

The sum of money will be Rs 10,000 at the beginning of the first yvear,



Answer 6.
P=PRs 4,000, R =10% p.a.; T = 3 years

Interest for the 1st yvear
4 000=x10=1

100
= Rs400

= Hs

Principal for the second vear
= Amount at the end of one vear + his new savings
= Rs, 4,000 + Rs, 400 +Rs, 4,000
= Rz, 8,400

Interest for the second vear

g,400=10=1
100
= R3840

= R

Compound interest for second year
= Rz, 840

Principal for the third vear
= Amount at the end of two vears + his new savings
= Rs. 8400 + Rs. 840 + Rs. 4000
= Rs. 13,240

Interest for the third yvear
_ s 13 240x 10x 1
100
- Rs1,324

Sum due at the end of third vear = his savings at the end of third vear = Rs.
13,240 + Rs, 1,324 = Rs 14,564




Answer 7.
P=FRs 5,000, R=12% p.a.; T = 3 vears
Interest for the 1st year

EO000=12=1
100
= HEGO0
Principal for the second vear
= Amount at the end of one vear + his new savings
= Rs, 5,000 + Rs, o000 +Rs, 5,000
= Rs. 10,600
Interest for the second vear

10,600x12x1
100
= Rsl, 272

Compound interest for second vear

=Rs. 1,272
Principal for the third vear
= Amount at the end of two years + his new savings
= Rs. 10,600 + Rs. 1,272 + Rs. 5,000
= Rs. 16,872
Interest for the third vear
_ pe 16,872x12x1
100
= Hs2, 024,64
sum due at the end of third vear = his savings at the end of third vear = Rs.
16,872 + Rs. 2,024.64 = Rs 18,896.64

= Hzs

= K=




Answer 8.
FP=~Rs 500, R=10% p.a.; T = 3 vears
Interest for the 1st year

EO0=10=1

100
= Rs50

= R

Principal for the second vear
= Amount at the end of one yvear + his new savin
= Rs, 500 + Rs. 50 +Rs, 550
=Rs, 1,100

Interest for the second vear
1,100=10=1

100
= Rz110

= HS§

Compound interest for second vear
= Rs. 110

Principal for the third vear
= Amount at the end of two vears + his new savings
=FHs, 1,100 + Rz, 110 + Rs, &00
=Rs. 1,810

Interest for the third vear
1,8310=x10=1
= FHs
100
= Hsl81

sum due at the end of third vear = his savings at the end of third vear = Rs
1,210 + ks, 121 =Rs 1,991




Answer 9.
P=FRs 4000, R =1% p.a.; T = 3 vears

Interest for the 1st yvear

RS%DODXISXI

100
= REE00

Principal for the second vear

= Amount at the end of one vear + her new savings
= Rs. 4,000 + Rs, 600 +Rs. 5,000
= Rs. 9,600

Interest for the second vear

9, 600% 15% 1
100
- Rs1,440

=Fz

Compound interest for second year
= Rs. 1,440

Principal for the third vear

= Amount at the end of two years + her new savings
=Rs, 9,600 + Rz, 1,440 4+ Rs, 6000
= Rs, 17.040

Interest for the third vear
_fs 17,040% 15x 1
100
— Rs2 556

sum due at the end of third vear = her savings at the end of third vear = Rs,
17,040 + Rs, 2,556 = Rs 19,596



Answer 10.

Let value of car be Rs x.
Wo=Rs x; n=3; r = 10% for first 2 years and §% for 3 year,

. Y
Y —Lfnx(l mo}

Z
=V, =R5.xx[1—£} [1 S J

100 100
=>Vt=RS.XxExEx§
10 10 25
12865
:’V¢=ES.X3{m

=V, = R5.0.7452x%

Depreciation in the value of car = Rs (x-0.7452%) = Rs 0.2548x
Percentage change in depreciation

0.2548x N
A
25.48%

100

Percentage change = 25.48%



Answer 11.

Let value of machine be Rs x.
Wo=Rs x; n=3; r = 10% for first yvear, 12% for 2™ vear and 15% for 3" yvear.

Ir_ "
Vt=vﬂx{1_ﬁ]

=1, - rax(1- 2 1- 2 [1- 5
100 100 100

:>Vt=RS.X:<EX%:<E
10 25 20
i*Vt=RS.Xx@
5000

=V, = Rz 0.6752x

Depreciation in the value of car = Rs (x-0.6732x) = Rs 0,3268x
Percentage change in depreciation

_ 0.3268x <100

=32.68%

Percentage change = 32.68%



Answer 12.
Let value of the scooter be Rs x.

Wo=Rsx, n==2;r=12%

Cepreciation in the first vear =

|r_ T
L ll.-"ll‘t =|I.-"'I|:I x{i_ﬁJ

12
=V, = K=, 1-—
= Rsxx(1- 125

22

=1, = Rs.X x ==
» = Rsx x5z
=/, = Rs0.88x

Depreciation in the second vear =

||" n
vr=v,jx{1-m}

12
=/, = Rs0.88x x [1- ﬁ}

.
=\, = Rs0.88x X=e

= /. = R50,77 44x

Cepreciation in the value of scooter in the second vear
= Rs (0.88x-0.7744%) = Rs 2,640

= [J,1056x = Rs 2,640

= x = Rs 25,000

The original value of the scooter was Rs 25,000,



Answer 13.
Let value of the refrigerator be Rs x.

Wo=FRs:x, n=2 r=8%

Cepreciation in the first vear =

II" il
v =Vox[1-
; ”x[ lDDJ

2
:PVt=RS.Xx[1—ﬁJ

23
=V, = Rsx X5

=V, = R0, 92%

Cepreciation in the second year =

||" n
La;=unx[1—ﬁJ

8
=, = Rs0.92x x [1 - ﬁ}

23
=V, = Rs0.92x X 52

=V, = Rs0.8464
Cepreciation in the value of refrigerator in the second vear

= Rz (0,92%x-0.8464x) = Rs 2,392
= 0.0736x = Rs 2,292
= x = Rs 32,500

The original value of the refrigerator was Rs 32,500,



Answer 14.
Let value of the machine be Bs =,

Vo=Rsx; n=2;r=15%
Depreciation in the first vear =

A =uﬂx[1_LJ

100
15
i‘ur =RSXK[1_EJ
17
=V, = Rsx x =5

=V, = Rsl.85x

Cepreciation in the second vear when ris 12% =

Le;=vux[1—LJ

100
12
=V, = Rs0.85x x [1— @]
2
=V, = Rs0.85x x >c

= I, = R50.748x

Cepreciation in the value of machineg in the second vear
= Rs (0.85x-0.748x) = Rs 1,632

= 0.102% = Rs 1,632

= x = Rs 16,000

The original value of the machine was Rs 16,000,



Answer 15.
Let value of the kike be Bs =,

Vo=Rsx; n=2;, r=16%

Depreciation in the first yvear =

II’- el
v =Vx[1-
: ”x[ 100}

16
:\’II.-"'It =ES.X}C(1_EJ

21
=W =Fsx X 52
=V, = Hs0.84x

Cepreciation in the second vear when ris 13% =

Ir_ T
Vo=l x|1-
* “x[ 100}

13
=V =Hs0.24 1-—
- Rs0.840x1- ]

=V, = Rs0.84x x 0.87

=V, = Rs0.7308x

Cepreciation in the value of bike in the second vear
= Rs (0.84x-0.7308x) = Rs 7,098

= 0.1092x = Rs 7,098

= x = Rs 55,000
The original value of the bike was Rs 65,000,



Ex 1.4

Answer 1.

For the second year:
A=Rs 642, P=Rsz &00; n=1, r=%

r "
A=P[1+ﬁ]
1
r
=648 = 600[1+ ﬁ]
= 648 = 600 + &r
=6 = 48
=r=2a

Herce, rate of interest = 8%
For the first vear:
[=Rs 500, r=8%; n=1; P=7
[ = BRRAR

100
Rse00= Rsm

100

o ps BOgDD

P = Rs7,500
The sum invested = Rs 7,500,

Answer 2.

For the second vear:
A=Rs 940.80; P=Rs 840, n=1, r=7

A=pPl1s L
100

1
240,80 = 840[1 . L]

100
940320 = 24000 + 540
240r = 10080
r=12

Hence, rate of interest = 12%
For the first vear:
I=Rs 240; r=12%,; n=1; P=?

I F=rxzn
100
Rsg40 = ps P x12x1
100
24000
12

P = Rs7,000

P =FHs

The sum invested = Rs 7,000,



Answer 3.

The extra interest earned = C.1, — 5.1, =Rs (1,365 - 1,300) = Rs 65,

The interest for the first vear = 5.1, for 2 yvears / 2 =Rs 13;0 =Rs650

5 100
Therefore, the rate of interest =geq

=10%

Miona,

_F‘xrxt
© 00

— Rs1,300 =

5.1

Fxllx 2
100
=F=Rs1300x5

— P = Rs6,500

The rate of interest was 10% and the coriginal sum was Rs 6,500,

Answer 4.

The extra interest earned = C.I. — 5.1. = Rs (8,640 - 8,000) = Rs &40,

The interest for the first year = 5.1, for 2 years / 2 = Rs g = Rs 4000
B0
Therefore, the rate of interest = 4,000 xR0
= 16%
Mona,
Pxrxt

S50 =

100
— Rs8,000 = £ X162

100
8,000 x 100

=PRI X

T 32

= F = Rs25 000

The rate of interest was 16% and the original sum was Rs 25,000,



Answer 5.
Here, r =7 P = x (sav)

T = 2 years and 3 vears

A =Rs 5082 in 2 yvears and Rs 5,590.20 in 3 years,

]
5,500.20 = x [1+ lLJ ..................... (i)

Dividing (i) by (i)

x|1e L 3
"100)  5,590.20

- % 5082

X1+ —

[ moJ

r _5,590.20

100 5,082

_ _r _5590.20
100 5082
r _5590.20-5082

100 5,082
r_508.20

100 5,082

- 820, 100

=r = 10%

=1+

-1

=

using (i)

[1+ | —Rs5082

D
10 pes 082
i1

X x—x—=FHsg5 082
1D 10

xx =2l pes 0g2
100

5,082 100
¥=RsZ2———" "=
121

¥ = Rad 200

Hence, rate of interest = 10% and sum invested = Rs 4,200,



Answer 6.
Here, r =7 P = x (sav)

T = 2 years and 3 years

A =PRs 26,450 in 2 vears and Rs 30,417 .50 in 3 years,

A=pPl1s T
100

2
26,450 = x [ 1+ —— | .o ()
100

]
30, 417,50 = x [ 1+ —— | oo, (i)
100

Dividing (i) by (i)
1
X[HL]
100) 30,417.50
X[ - ]z ~ 26,450

1+ —

100

r30,417.50
100~ 26,450

r 30,417.50

100~ ~ 26,450

r 30,417.50- 26,450
100 26, 450

r 3967.50

100~ 26, 450
3967.50
26, 450
= = 15%

=1+

=

= = 100

using (i)
r z
X [1 + —J = Rs26, 450
100

100

>3 23
X x 5= x S5 = Rs26,450

X x 222 _ Rs26, 450
400

2
% [1 v E] _ Rs26, 450

26, 450 % 400

529
¥ = Rs520,000

Hence, rate of interest = 15% and sum invested = Rs 20,000,

x =FHs




Answer 7.
Here, P=Rs 5,000, r=8%,; t=2years

For simple interest:

S Fxrxt
100
SIII=R55,DDD>¢E}X2
100
5.0 = Rs800

For compound interest:

A=pPl1+
100

8
A= Rs5,000(1 + ——
$5,000(1 + 755

£ A5, 000 % oos 5200

100~ 100
A = Rs5,832

Cl=A-pP
C.1. = RS(5,832 - 5 000)
C.1 = Rs832

The difference in the compound interest and the simple interest = Rs(832-800)
= Rs 32,



Answer 8.
Here, P=Rs 15,000; r=8%,; t=3 years

For simple interest:

B Pxrxt
~ 100
;15,000x% 8x 3

100
5.1 = Hs3 600

S

S5L=R

For compound interest:

||" T
A-pl1s
[+1DDJ

8
A = Rs15,000(1 + —= )
s15,0001 + ==

103 y 10z y 103
100 100 100
A=FRsz18 89568

A=FRs15000x%

Cl=A-P
C.1. = Rs(18 895,68 - 15,000)
C.I. = Rs3,895.68

The difference in the compound interest and the simple interest = Rs (3,895.68-
3.6000 = Rs 29568



Answer 9.

Here, P=Rs 20,000; t=3 years
For simple interest: r=9%

B Fxret

~ 100

. 20,000x9x3
100

S.1. = Rs5, 400

For compound interest: r= B%%

|r_ T
A=pl1e
[+lDDJ
17
i

A = Rs20,000(1
520, 0001+ 555

217 217 217
200 200 200
A = Rs25,545.70

Cl-A-P

C.1. = Rs(25,545.70 - 20,000)
.1, = Rs5,545.70

5.0

5l =F

A= Hs20, 000 x

The difference in the compound interest and the simple interest = Rs( 5,545 .70-
5,400) = Rs 145.70

Anand gained Rs 145,70



Answer 10.
Here, P=Rs 35,000, t=3 vears
For simple interest: r=12.5%

Fwrxtk
5l =—
100
ST RSES,DDDK 12 5«3

100
SI=FHRs15125

For compound interest: r=12%

|r_ T
A=P[1+m}

12
A = Rs35,000(1+ ==
112 112 112
100 100 100
A= Rsd9,172.48

A = Rs35 000 %

Cl=A-P
C.I. = Rs(49, 172,48 - 35, 000)
C.1. = Rs1d 172.48

The difference in the compound interest and the simple interest = Rs( 14,172 . 48-
13,125) = Rs 1,047 428

Meera gained Rs 1,047 .48



Answer 11.
(&) The rate of depreciation,

Difference in the depreciation = Rs (5,100-4,335) = Rs 765
Rate of depreciation =

765
Sk 100

= 15%
Fate of depreciation =15%

(b)) The original cost of the scooter,

Depreciation for first vear = Rs 5,100 + 15% of Rs 5,100

Here, 15% of Rs 5,100 = Rs 765

Hence, Depreciation for first vear = Rs 5,100 + Rs 765 = Rs 5,265
Total depreciation for 3 vears = Rs (5,865 + 5,100 + 4335) = Rs 15,300

A=P-Rs 15300; P = x

A=pl1-—_
100
15

1
X -15300=x|1-—
100

% -15,300 = ¥ x0.85 % 0.85x 0,85
x(1-0.614) = R515,300
pg 15,300

0.386
X =FR539,637.31

= x = Rs40, 000{ approx)

Original cost of scooter = Rs 40,000

(¢) The cost of the scooter at the end of the third year,
Here, P = Rz 40,000, r = 15%; t = 3 vears

Ir_ T
A=pl1-
( 100}
15

]
A= Rs40,000(1- 22
S [ mo]

A=Rs40,000x0285x0,85x 0,85
A= Rs24 565

Cost of the scooter at the end of third vear = Rs 24,565



Answer 12.
(a) The rate of depreciation.,

Difference in the depreciation = Rs (2,592-2,332.80) = Rs 259.20
Rate of depreciation =

259.20
2,592
- 10%

x 100

Rate of depreciation =10%

(b)) The original cost,

Cepreciation for second vear = Rs 2,592 + 10% of Rs 2,592

Here, 10% of Rs 2,592 = Rs 259.20

Hence, Depreciation for second yvear = Rs 2,592 + Rs 25920 = Rs 2,851.20

Depreciation for first vear = Rs 2,851.20 + 10% of Rs 2,851.20

Here, 10% of Rs 2,851.20 = Rs 285.12

Hence, Depreciation for first vear = Rs 2,851.20 + Rs 285,12 =Rs 3,136,532
Total depreciation for 4 vears = Rs (3,136.32 + 2,851.20 + 2,592 + 2,332.80)
= Rs 10,912.32

A=P-Rs 10,912.32; P = x

A-pl1-1_
100
10

4
X¥-10,912,32 =x|1- —
100

¥-10,912.32=x=1.1x1.1=x1.1=x1.1
x{1-06561)=Rs510,912.32
10,9123

0.3439
X =Rs31731.08

= X = Rs32,000{apprax )

X =Hzg

Original cost = Rs 32,000
(c) The cost at the end of the fourth yvear,

Here, P = Rs 32,000, r = 10%; t = 4 vears

||" T
A=pPl1-
{ 100}
10

4
A:Rszmmﬁ-__]
524 100



A=Rs32,000x09x09x0.9x09
A= Rs20,995.20

Cost at the end of the fourth year = Rs 20,995 .20



Ex 1.5

Answer 1.

Interest for first year:

- Fwr =t
100
Sq - 12,000x15x= 1
100
S =1200

Principal amount for second year = Rs (12,000 + 1800) = Rs 13,800
Ramesh paid = Rs x (say)
Therefore, new principal = Rs 13,800-x

A=Rs 9,200, r = 15%,; n=1 vear

A-plie
100
15

59,200 = Rs(135 800 - 1+ —
55,200 = R5(13,800- x)( 1+ 1=

Rs9,200 = Rs(13,800- x)x 1.15
Rs9,200 = Rs15,870 - Rs1.15x
1.15x% = Rs(15870 - 9,200)
Rs6, 670
" 1.15
X = Fs5, 800

Therefore, Amount Ramesh paid at the end of first year = Rs 5,200



Answer 2.

Interest for first yvear:

Fxrxt
S ="—"""
100
Sq - Z2,000x12x1
100
S0 = 3840

Principal amount for second vear = Rs (32,000 + 3,840 = Rs 35,840
Rajan paid = Rs x (say)
Therefore, new principal = Rs 35,840-x

A=R=s 17,920; r = 12%; n=1 year

A=pl1+
100

12
Hsl7,920 = Hs( 35,840 - 1+ —
517,920 - As(35,840- )1+ 105

Rs17,920 = Rs(35,840- x)x 1.12
Rs17,920 = Rs40, 140.80 - Rs1, 12x
1.12% = Rs( 40,140,280 - 17, 920)
Rs22220.80
B 1,12
¥ = R=s19 840

Therefore, &Amount Rajan paid at the end of first vear = Rs 19,240

Answer 3.

Let the sum be P

Interest for first year:
F‘[1+ i] I ()
100

Interest for third vear:

] 2

5 5 y

Pliv — | -1+ —] i
100 100

Subtracting (ii) from (i)

g Y 8 Y 8
P[l‘l‘m] _P[l-l-ﬁ] _P[1+m]+P=R5166.4D

Rslo6,40=1,259712F - 1. 1664 - 1.08F + P
Rz166.40 = 00135128
F=FRs12 500

Hence the sum is Rs 12,500



Answer 3.

Let the sum be P

Interest for first yvear:

Interest for third year:

1 2
5 5 y
Pli+s —| -P 1+ —]| ..o D
100 100

Subtracting (i) from (i)

g v g ) g
ID(1+ ﬁ] _ID[1+ ﬁ] _P[1+ﬁ]+P=R5166.4D

Releg 40 = 12597127 -1, 16647 - 1.028F + F
Releg 40 = 0,013312F
F=Rs12 500

Hence the sum is Rs 12,500

Answer 4.

Let the sum be P
Interest for first vear:

Pl1+—22 1-po) (i)
5% 100

Interest for third year:

] 2
P 1+i -Fl1+ e 5 easesin s ol
2= 100 2=100

Subtracting (i) from (i)

2 2
o5 25 25
P(1+2x1mJ —P[1+2x1mJ —P(L+EXHDJ+P=FE53L25

Reb31.25=1.4235828P - 1. 2650625 - 1 125 + F
Rs531.25= 0.033203F
F=FHsl16, 000

Hence the sum is Rs 16,000




Answer 5.
Here, P =7, t = 2 vears, r = 8% p.a.
5.1 = Hs320
5.1 x 100
FoxE
320100
Bx
P =FHs2,000

F=FKs

F=FHs=s

Mow, P =Rs 2,000; t =1 yvear
n=zt=2x1==2
ro= % x 8% = 4% Per conversion period.

Ir_ T
A-pl1e
[+lDDJ

A z
A= RSE,DDD{l + —J

100
= 32,000 = 1,04 1,04
= Rsz2, 163,20
ClL=A-P

= Rs (2,163.20 - 2,000)
= Rs 163.20

Hence, compound interest = Rs 163,20



Ex 1.6

Answer 1.
(a) Rs 12,000 for 3 years at 15% p.a.

P=Rs 12,000; t=3 years; r=15% p.a.

|r' fis
A-pliy T
[ " 100}
15y
A=Rs12000( 1+ ==
S (+1DDJ
_ Rs12,000x1.15x1.15x 1,15
_ R518,250.50
Cl-A-p
_ Rs(18, 250,50 - 12, 000)
_ Rs6,250.50

Hence, Amount = Rs 18.250.50 and C.I. = Rs 6.;50.50

(b Rs 25,000 for 3 yvears at 8% p.a.
P=Rs 25,000, t=3 years; r=8% p.a.

r T
A-pl1e
[ * mn::J
8 ]
A= Rs25,000( 14 o
e { * iljDJ
_ Rs25000x1.08x 1.08x 1.08
_ Rs31,492.80
Cl=A-P
_ Rs(31, 492,80 - 25, 000)
_ Rs6, 492,80

Hence, Amount = Rs 31,492,280 and C.I. = Rs 6,492,820
(¢) Rs 16,000 for 3 vears at ?% % p.a.
P=Es 16,000; t=3 years; r=?%% p.a.

r T
A=P[1+EJ

A= FRelh I"‘II'"II'"I(14. 15 \IJ




S - S (00)
— Rs16,000x 1.075% 1.075% 1.075
— Rs19,876.75

Cl=A-pP
= Rs(19,876.75- 16,000)
- Rs3 876.75

Hence, Amount = Rs 19,876.75 and C.1. = Rs 3,876.75

(d) Rs 20,000 for 2 vears at 12 % % p.a.

P=Rs 20,000, t=2 years; r= 12%% p.a.

Ir_ T
A-pl1e
(HDD]

25 Y
= Hs20,000x1.125x 1. 125

= Rs25 312,50

Cl=A-P
- Rs(25,312.50 - 20,000)
- Rs5,312.50

Hence, Amount = Rs 25,312.50 and C.I. = Rs 5,312.50

(&) Rs 2,000 for 1% vears at 12% p.a.

P=Rs 8,000, t=1% vears; r=12 % p.a.

A-pl1e
100

1
A= Rsg 0001+ 12 0[14 127
oo, " 100

1 1z
=RSB,DDDK1.12K[1+EKEJ

= Hs8,000x 1. 12x1.06
= Rs9, 497,60

Cl=A-P
- Rs(9 497 .60- 8,000)
— Rs1,497.60



Hence, Amount = Rs 9,497 .60 and C.I. = Rs 1,497.60
(f1 Rs 7,500 for 2% years; r=16 % p.a.

P=Rs 7,500, t=2%years; r=16 % p.a.

A-pl1s T
100

1

o e

A= Rs?,SDD(i + EJ (1 + EJE
100 100

2 100
= Rs/,500x1.16x1.16x 1,02
= Rs10, 89936

= RS?,SDDK1.16x1.16x[1+£x£}

Cl-A-P
- Rs(10,899.36 - 7,500)
— Rs3,399.36

Hence, Amount = Rs 10,299.36 and C.I. = Rs 3,399.36



Answer 2.
(a) Rs 6,000 for 1iyears at 10% p.a.
e

P=Rs 5,000, t=1% vears, r = 10% p.a. = 5 % half —yearly.

A=Pl1e
100

1

o =

A=Rs6,000[1+ 2] [1+ 1917
100 100

1 10
= Hsi, 000x 1.05x 1.D5x(1+ixﬁ]

= Rs6, 000x 1.05x 1.05x 1,05
= Hs6, 945,75

Cl=A-P
- Rs(6, 945.75 - 6,000)
- R5945,75

Hence, Amount = Rs 6,945.75 and C.I. = Rs 945,75

(b) Rs 25,000 for 1% vears at 12%

P=Rs 25,000, t=1% yvears, r = 12% p.a. = 6 % half—vearly.

A-plie
100

1

o £l

A-ps25000(1+ 2 ] (14 127
100 100

1 12
= Fz25 000x 1,06 x 1.D6x(1+§me

= R525 000x 1,06 1.06x 1,06
= Kz29, 775,40

ClL=4-F

= Rs(29,775.40- 25, 000)

= HR=z4775.40

Hence, Amount = Rs 29,775.40 and C.I. = Rs 4,775.40

Answer 3.
(a) Rs 9,125 for 2 years if the rates of interest are 12% and 14% for the
SUCCeSSive years,



P=Rs 9 125 t=2 years: r = 12% and 14% successively.

A-pl1e
[ 100}

12 14
rﬂ| = RSQ, 125[1 + ﬁ}[l-k ﬁ]

= Rs9,125x1.12x1.14
= Rs11,650.80

Cl=A-P
— Rs(11,650.80 - G, 125)
- Rs2, 525,80

Hence, Amount = Rs 11,650,280 and C.I. = Rs 2,525.80

(b) Rs 20,000 for 2 vears if the rates of interest are 12?1} % and 5% % for the

SLCCEessivVe Vears,
_ o o 1 . 49
P=Rs 20,000, t=2 vears, r = 123% and 5E Y% successively = E%

11 .
and > % successively,

A=Plte
100

ﬁ=R52D,DDD[1+ i ][1+ 11 ]

4% 100 2% 100
= Re20,000x 1, 1225« 1,055
= R523, 684,75

Cl=A-P
— Rs(23,684.75 - 20, 000}
— Rs3,684.75

Hence, Amount = Rs 23,684.75 and C.I. = Rs 3,684.75,

(c) Rs 12,500 for 3 vears if the rates for the successive vears are 8%, 9% and
10% respectively.

P=Rs 12,500, t=3 vears, r = 8%, 9% and 10% successively,

A-pl1e
100

2 = 10
A= R512,5D0[1+ m][l + 106]{14_ 10[]]

=Hs12,500x1.028x1.09x 1.1
= Rgzle, 186,50

- T 1 Lan



=4

= Rs(16,186.50- 12, 500)

= Rz3,686.50

Hence, Amount = Rs 16,186.50 and C.1. = Rs 3,686.50

(d) Rs 10,000 for 3 years if the rates of interest are 10%, 11% and 12% for the
SLCCessive years,

P=Rs 10,000; t=3 vears; r = 10%, 11% and 12% successively,

A=pl1e
100
10 11 12
A_Rsm,om{nﬁ][u mo](i* mo]

=Hs10000x1.1x1.11x1.12
= Hsl35675 20

Cl=A-P
- Rs(13,675.20 - 10, 000)
- Rs3,675.20

Hence, Amount = Rs 13,675.20 and C.I. = Rs 3,675.20

Answer 4.
(a) Rs 15,000 for 1% vears at 12% p.a.

F=Rs 15,000, t=1% Wears

When compounded vearly: r = 12% p.a.

A-pl1+ T
100

1
A= Rsi5 ooo(n EJ{i v EJE
o0 )L 100

= Hs15000x 1. 12 % [1+Ex£J

27100
- Rs15000%x1.12x1.06
- Rs17,808
Cl=A-P
- Rs(17,808- 15, 000)
- Rs2,808

When compounded half-vearly:
I .



A=PL1+'—J

100
6 ]
A= Rs15,000( 14+ =
. { ¥ 10@}
- Rs15,000x1.06 x 1.06x 1.06
_ Rs17,865.24
Ch=A-p
_ Rs{17,865.24 - 15,000)
_ Rs2 865,24

Hence the difference in the interest=Rs (2,865.24-2,808) = Rs 57 .24

(b) Rs 20,000 for 1% vears at 16% p.a.

P=Rs 20,000, t=1% Years

When compounded vearly: r = 16% p.a.

A=pPl1e
[ 100}

1
A = Rs20, DDD[1+ o J[i e T

- +
100 100
1 16
= Fs20, 000 % 1.16x[1+ ExﬁJ
= Rs20,000x 1. 16x1.08
= Hs25, 056
CI=A-F
= Rs(25, 056 - 20, 000)
= Hs5,056

When compounded half-yearly:

r T
A=P[1+m}

8 1
A = Rs20, DDD[1+ ﬁ]
= Rs20,000x1.05x 1.08x1.03

= Rs25 194,24

Cl=A-P
— Rs(25,194.24 - 20, 000)
— Rs5,194.24

Hence the difference in the inferest=R= (5. 194 24-5 541 = B=s 1538 2



_ e e e m e i == - T e el f— e — e a—

Answer 5.

Herse P=7 ; t = 2 years; r = 15% and 17% sucoessively, & = Rs 8,073

A=pPl1s o
100

Rs8,073=P(1+ 22 |[1+ 12
100\ " 100

Rs8,073=Px1.15x1.17
Rs8,073 = 1.3455P
e 8,073
1.3455
P = Rs6, 000

Hence, the sum of money is Rs 6,000,

Answer 6.

Here P=7 ; t = 2 years; r = 12% and 14% successively; A = Rs 22,344

=Pl lp=e
100

Rs22 344 = P14+ 22 |[1+ 22
ool " 100

RS20, 344 =P x1.12x1.14
Rs22 344 = 1,2768P
. 22,344
12768
P = Rs17,500

Hence, the principal is Rs 17,500,

P-R




Answer 7.

Here P=7; t = 3 years; r = 10%, 11% and 12% successively; & = Rs 10.256.40

A=Pls—
100

Rs10,256.40 = P[1+ EJ[1 " i}{i . E]
100, " 1ol " 100

Rs10,256.40 = Px1.1x1.11%1.12
Rs10,256.40 = 1,367 52P
10, 256. 40

1.36752
P = Rs7,500
Hence, the sum of money is Rs 7,500,

P =FHs

Answer 8.

P=7,A=Rs 18792; t = 1% vears; r = 16%

A=Pl1e
100

1
jRSlBJ9?2=P(1+£]{1+ 15 ]3

100 100
= Rs18,972=pP1+ 2 )1+ 1 18
too)l 2" 100

= Rs18,972=Px1.16x1.08
— Rs18,972 = 1.2528P
18,972

1.2528
= F=FRsl15143.68

=H=FKs

Hence, the sum of money will be Rs 15,143 .68



Answer 9.

P=%,A=Fs 15,746,440, t = % years, r = 16%

r_ s
A-pPl1e
[HD[:J

1
16 42

Rsl5 746 40=F|1+ —
100

Hsl15, 746,40 = F‘[1+ ! X EJ

2 100
Rsl15, 746,40 =P x1.028
15, 74,40
F=FHs EEN-E
P = Rs14 580

Hence, the sum of money will be Rs 14,520,

Answer 10.

P =x; t= 2 years; r = 8%, A=Rs (x+1399.68)

100
Rs(x +1399.68) = ¥ x 1.08x 1.08
Rs(x +1399.68) = 1. 1664
0.1664x = Rs1399.68
x = Rs5 411,538

On ks 2,411,538 the C.1, for 2 vears at 8% will be Rs 1399.68

2
Rs(x +1399.68) = x [1+ i}



Answer 11.

P=x, t= E%yearsg r=12%,; A=Rs (x+8,241.60)

A= P[1+ LJ
100

2 1
12 123z
RS(.X +8J2416D)— X[l+m} {1+ ﬁ]

Ralx +8,241 6001=xx1.12x 1.12x[1+%x£]

100
Rs(x +8,241.60)= xx1.12x1.12x 1.06

Rs(x +8,241.60) = 1.320664x

0.329664x = Rs8,241.60

x = Rs25,000

On Rs 25,000 the C.1. for E%years at 12% will be Rs 2241 .60,

Answer 12.

P =x: t= E%years; r= 1215% = 2_5%; A=Rs (x+82,734.37)

A=pPlte
100

z 1
Rs(x+82,?34.3?)=x[1+ <= Nn e T

2% 100 2% 100
7 1
25 25 2
Fs{x +82,734.37) = X(1+ = 100} [1+ = lDDJ

ES[X+82,?34.3?)=Xx1.125x1.125x[1+%x%}

Rs(x +82,734.37)= x x 1.125x 1,125 % 1.0625
Rs(x + 82 734.37) = 1.344727 x

0.344727x = Rs82 734,37

¥ = R52,39,999.7 = Rs2, 40, 000

On Rs 2, 40,000 the C.1. for E%years at 1215% will be Rs 82,734.37



Answer 13.

P =y = llgyears =3 x 6 months; r = 16% compounded half-yearly =

?%:E%; A=Rs (x+649.28)

|r_ T
| [ A
[+1DD]

8 ]
[ 049.28) = x| 1+ —
(X + ) x( + lDDJ

Rs(x +649.28)=x x 1.08x 1.08x 1.08
Rs(x + 649.28) = 1.2597 12x

0.2597 12x = Rs649 .28

x = Hs2, 500

Jn Rs 2,500 the C.1. for 11E vears at 16% compounded half-vearly will be Rs
649,28

Answer 14.

F=x t=2vyears = 4 x & months; r = 10% compounded half-yearly =

%% =5% ; A=Rs (x+3,448.10)

Ir_ T
A-pl1e
[+1EIDJ

5 4
F 3442100 = x| 1+ —
s(x + 3 ) x[ +1DD]

Rs(x +3,442.10) = x x 1.05% 1.05% 1.05% 1.05
Rs(x +3,448.10) = 1.215506x

0.215506x = Rs3, 448,10

x = Rs16,000.02 = Rs16, 000

On Rs 16,000 the C.I. for 2 years at 10% compounded half-yvearly will be Rs
3,448.10



Answer 15.

P=Rs 12,250; A =Rs (12,25043,116.40) = Rs 15,366.40; t = 2 years;
r="

A-pl1s
100

2
R51E, 366.40 = Rs12250( 1+ ——
100

15,366.4@_[1 r ]2

+ —
12250 100
Z 2
ﬂ: [1+L]
(175) 100
196 r
175 100
roo 196_1_196—1?5_ 21
100 175 L./7% il PS
r=222 120
175

Hence, r=12%

Answer 16.

P=FRs 15000, A =Rs (15,000+8,413.44) = Rs 23,413.44; t = 3 years;
r="7

A=pP|1+—
100
r ]
Rs23,413.44 = RS15,000(1 +
100

231413.44_[1 r ]’

+_

15,000 100
(29)° F Y
(25) 100
25 100
L 2H ., 2 4
100 25 25 25
r=20 6%

25

Hence, r=16%:



Answer 17.

P=Rs 16,000; A =Rs (16,000+43,876.75) = Rs 19,876.75; t = 3 vears;
r="Y

A-pl1+
100

1
Rs19,876.75 = Rs16,000(1+
100

19,876.75 [1 r ]’

+_
16,000 100
(27.08)' _(,, r Y
(25.19% 100
2708 _, T

= =] e
2519 100
r__2708 | _2708-2519 189

100 2519 2519 2519
roo 28900 iegs
2519

Hence, r=7.5%

Answer 18.

P = Rs 8,000; A =Rs 12,167, r = 15%; t=7

A=pl1e 1
100

4
Hel2, 167 = Hsg, 0001 + E
100

12,167 [1 15 J*

= r—
5,000 100
(23 (23Y
(z2o0y 20
t=3

T =73 vears



Answer 19.

P = Rs 50,000; A = Rs (50,000 + 32,151.60) = Rs 82,151.60; r = 18%;
=7

r T
r‘ﬂ|=|':l[1+ﬁ]

Fs/72,151.60=FRs50, 000 1+ )
100

82,151.60 _ (1 18 ]

50,000 100
82,15160 _ 1+£*
50, 000 % 100 100
2,05379 _ 1+£*
1,25, 000 100
o ~(&)

(507  \50

r=73

T =3 years



Answer 20.

P=x;t=2vears, r= ?%%=§%

For =1,

_F’xr:::t

100
X E 1—25 ¥
100
S

200

For C.1.:

’ 15 ]2
=x|1+ - X

3 2z
=x|1+—| - X
40

={xx1.075=x1.075)-x
=1.155625x - x
=0, 155625x

Given C.I.- §.1. = Rs 22.50

— 0.155625x — 2—; — R522.50

= 0.155625x —0.15x = Re22.50
= D,005525x = Rs22.50
= % =Rs54,000

Hence, sum = Rs 4,000



Answer 21.
P=x; t=3vyears, r=12%
For =.1.:

_F‘xrxt
100
_Xx12x3
- 100

=(xrxl12x1.12x1.12)-
= 1.404928x - x
= 0, 404228x

Given C1-5.1, = Rs 22,50

= 0.404928x — z—; =R51,123.20

= 0.404928x - 0.36x = R:1,123.20
= 0.044928x = Rs1,123, 20
= X = Rs25,000

Hence, sum = Rz 25,000



Answer 22.
P=x;r=7,;t=2and 3 vyears; & =Rz 47,6102 vears)
(3 years)

A=pPl1e__
100

2
47,610 = x|1+ | ... 0]
100

]
54,?51.5D=x[1+L] ........... (i)

100
3
e 1+L
[ 1[:][:]] _54,?51.5[]

[ - ]2‘ 47,610
Xll+ —

100
:}[“ r }54,?51.50
100 47,610
r_ 5475150 ,
100~ 47,610
r 54751.50- 47,610
100 47,610
_ 714150
47 610
r=15%

100

Using (i)

2
X(l +L] _R547,610

—

0

L=

2
X(l +%] =Rs47,610

—
=

1

X 1> =Rs4/7,610
100

153225 = Rs47,610

X = F§36,000

The sum = Rs 36,000 and rate of interest = 15%



Answer 23.
P=x;r=7 t=2and 3 vears; A =Rs 31,360( 2 vears) and Rs 35,123.20
( 3 years)

A=Pl1e
100

2
31,360 - x[1+1LJ ........... 0

]
35, 123.20 = [1 + LJ ........... (i)
10

2
.
X [“ ﬁ} _35,123.20

- ¥ 31360
X[1+—J

100
:}[“ r J=35,123.20
100 31,360

r 3512320 ,

100~ 31,360

r 35123.20-31 360

100 31,360

3,763.20
- 31,360
r=12%

Using (i)

x 100

2
w1+ —| = Rs31,360
100

2
X |1+ £ = 531,360
100

2

X 11z = R3], 560
100

1.2544x = Fe31,360

x = Fs25, 000
The sum = Rs 25,000 and rate of interest = 12%



Answer 24.
P=wx,r=7% t=2and 4 vyears; & = Rs 26,460 (2 vears) and Rs 29,172, 15 (4 yvears)

X1 r Y
"100) 29,172.15

" ( , T 26, 460
Ed

1+ —

100

N O ©1,94,481
100} 1,76, 400

:}[“ r T=(441T
100 420
r _441
100 420
o4y

100 420
r 441 - 420

100 420

ro= 21 x 100
420

r =5%

Using (i)

2
x|1 +L = Rs26, 480
100

5 2
X1+ —| =Rs26,460
100

2
X 105 = Rs26,460
100
1.1025x = Hs26, 460

X = Rs24,000

The sum = Rs 24,000 and rate of interest = 5%



Answer 25.

P =x, t= 2 vears, r = 5%, A=Rs (x+512.50)

|r_ T
a-plis
[+1DDJ

5 2
K 51250)=x|1+ —
slx + ] x[ + lDDJ

Rs{x +512.50)= xx 1.05x 1.05
Ra{x + 512,500 = 1. 1025
0.1025x = Rs512.50

¥ = Fsh 000

Powr=t

- 100

SSJDDD}:EXS
100

I=FK
I =FRs300

simple interest will be Rs 900

Answer 26.

P =x; t= 3 years;, r = 10%; A=Rs (x+4,965)

Ir_ T
Aopltle
[J“mo]
10

]
H 49650 = ¥ |1+ —
sl + 4, ) x( +1EJDJ

Rslx + 4,965) = x x1.1x1.1x1.1
Rs(x + 4,965) = 1.331x

0.331x = R4, 965

¥ = Rs15,000

I_F‘x."xt

100

I=R515,DDD;:11>:3
100

I = Rs4 950

Simple interest will be Rs 4,950



Ex 1.7

Answer 1.

Wy =7 W, =425, 000; r = 4%,; t = 2 years

|r_ t4
Voo [1e
" G[“meu}

a4 WV

V. = 4,25000{1+-——
RS [“Lmo]
V. = 4,25000x1.04 x1.04
V. = 4,59,680

The population in 2007 is 4, 59,680

Answer 2.

W, =7 We=1, 25,000, r = 5.5% (birth) and 3.5% (death);, £t =3 vears

L3
V= [ 1+ ——
100

5.5%° 3.5
V. = 1,25, om{u ﬁ] [1— ﬁ]
V. = 1,25000x10.55% 10.55% 10.55x 9.65x% 9.65x 9.65
V. = 1,25000x1174.241x 3986321
V. =1,32,651

The population in 2007 is 1, 32,651

Answer 3.

Rate of increase =

=0
1000

r= #1000 = 5%

Wy =22,050; VW=7 r = 5%, t =2 years

i
Vo= 1e
100

5 N2
22,050 =\, [1 + —J

100

22,050 =V, x 1.05x 1.05
22 050

° T 1.1025

V. = 20,000

The present population is 20,000,



Answer 4.
Wy =45, 305; VW,=40,000;, r =7, £ = 3 years

b
i .
100
r 3
46,305 = 40,000 1+
100

46,305, _r :
40,000 100

213 ry
— = 1+ ——
20 100

[“;]:2
100) 20
r _21_
100 20

r _1

100 20

1
= — x 100
r 2[:])(

r = 5%

The annual rate of growth of scooters is 5%,

Answer 5.

W, =7 Wo=1, 15,200; r = 5% % = % % o f=2years

20 ¥
V =1,15200(1+—=2_
77 S [JrlDDxBJ

V¥ = 1,15 200x 1.06667 x 1.06667
V. =1,31,072

The population 2 years later = 1, 31,072

(ii) Its population 2 vears ago.

W, =7 V,=1, 15,200: r = 5% % = %% St =2 years

.l" *
V=V [1l-—
? [ mEJ
20 Y
Vo o=1,1520011- ——
S [ 100 % BJ
YV =1,15200x0.933333x 0933333
V. =1,00,352
The population 2 years ago was = 1, 00,352



Answer 6.

Ve =Rs 19,082 60; W=7, r=10%,; t = 2 years

||" 4
Vo=V [1-
d *[ 100}

Rﬂgmﬂao—u1—i92
! == W 100

10 10
V, = Rs19,083.60%x —x —
= Rs515, X5 %35
V, = Rs23,560

The machine was purchased for Rs 23,560 i.e. Rs (23,560 - 19083.60) = Rs
4, 476.40 more than the present value,

Answer 7.

Wy =27,783; V=24,000; r =7, t =3 years

[
v, =V, [1+ —
100

3
27,783 =24 0001+
100

27,783 (1, r Y
24,000 100

=13 oy
— = 1+ —
20 100

)
100 20
o2l
100 20
rooo1

100 20

1

."=Ex1[][:l
r=5%

The rate of growth of population is 5%,



Answer 8.

Wy =27,040; \V,=25000; r= 7, t =2 years

r +
VH=VG[1+EJ

2

.
57,040 = 25,000[ 1+ ——

: ! [+1EIDJ

27,040 _(, Y
25,000 100

[164. 43]1 [ r T
=1+ —
158 100

[1 r J= 164,45

;
100 158

ro 164

100 158

ro 6,43

100~ 158

r = 0,040 x 100

r= 4%

The rate of growth in number of villages with electricity is 4%,

Answer 9.

Vo =7 W,=Rs 4, 00,000, r = 10%,; t = 4 years

||" &
V= uﬁ[1 ﬁ]

v, = Rs4,00,000(1- 2]
mom T 100

Y = Rs4,00,000%0.9x0.9x0.9x0.9
Y = Rs2,62 440

The value of car after four years will be Rs 2, 62,440,



Answer 10.

We=Rs 44,540, W,=% , r = 5%; t =3 years

[
1, b e
100
o

3
Rs44 540 =V [1- ==
A { 100}

100 100 100

95 ~ 95~ o5

V. = Rs44,540x 1.052632x 1.052632 % 1.052632
V. = Rs51,949.26

V, = Rs44 540 %

The original value of the property was Rs 51,349,226

Answer 11.

Wo=Rs 9,6280; V,=Y ; r = 12%,; t = 2 years

b
Vo= [1-
100
12

2
R, 680 =V, [1 = m}

100 100

II.-"'::I =R59,68Dx§x¥

V¥ =Rs9,680x 1.136364 x 1. 136364
W, = Rsl2 500

The refrigerator was purchased for Rs 12,500



Answer 12.
For the building:

+
Vo= 1o
R Ty

+
v = Rs1,33,100(1- 2L
) 100
V. = Rs1,33,100x% (0.9}

For the plot:

14
Vo=l 1 ——
=YY 100
10

4
WV o=Rs72,900|1 + —
" 100

V= Rs72,900x (1.1}

Since, value becomes same;

1,33, 100 x(0.9% = 72,900 x (1. 1) lim
(1.1y 1,33,100

(0.9F 72,900

(11f 1331 11

(09 729

t=3

Hence, after 3 yvears value of both will be same,

Answer 13.

W=7 W.=Rs 17,000; &t = 2 years (1 for increment and 1 for decrement);
r = 5% for increase and 4% tor decrease,

Vo= 1 ] [1-
L ST 100

5 4
V= ESI?,DDD[1+ 100][1— 1[][]}

Vo= Hs1/7,000x1,05x 0,96
v, o= FHs17,136

The cost of the TV, in 2001 is Rs 17,136,



Answer 14.

Vo = 1m Bom = 108 cm; W=7 ; t =2 years, r = 20%

v, =V, [1 - LJ
100

20y
108cm = V. [ 1+ =
i °[+10D]

V. = 108mx 0.8333% 0.8333x 0.8333
V. = 62.5cm

The height of tree was 62.5 cm when planted,
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